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18. A line passing through point P(—4, 0, —3) intersects the two lines with
equations Ly : 7 = (1, 1, —1) + s(1, 1, 0), seR. and

L,:7=1(0,1,3) + (=2, 1, 3), teR. Determine a vector equation /Q
WWN

for this line.
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ox _y=71 z-1 x—4 z-1
]7.ﬂ.Showthatthelmesl— 5 - 2 and 3 - _2,_\— 1,

lie on the plane with equation 2x + v + 3z — 10 = 0.

h. Determine the point of intersection of these two lines,
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15. The lines 7 = (=1, 3,2) + s(5, =2, 10), seR, and
7= (4. —1.1) + 10,2, 11), t=R, intersect at point A,
a. Determine the coordinates of point A.

b. Determine the vector equation for the line that is perpendicular to the two
given lines and passes through point A.
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13. The line 7 = (=8, —6, —1) + s(2, 2, 1), seR, intersects the xz- and _~—
yz-coordinate planes at the points A and B, respectively. Determine th / / / /
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length of line segment AR.
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